2—(1) FM3FERANRIWRE—E (2

HIEEK)

7 BRNEH

= o = 24y | 2L L
5 % R |k | (pm) | Smbs
%A EHRNTE te > ER)1 SET 28| 4,512,591 119
et —T 14— SW=EH 17| 4,111,099 63
S|hEESEHA S mam 14| 3,442, 621 49
A EEEHRA S N 19| 3,388, 299 89
S/MITERA S THE™ 11| 2,871, 256 62
6| kX 4R MR 14] 2,297,949 139
1MFEARTY / Ak et LN 10| 2,198, 797 49
8| R=4 IO Bm 29 2,117,556 184
IFEREIHEASH FriR™ 2| 2,010,577 8
0|EAEZRTEHRASH M=k 13| 1,902,177 71
X SHBERESR N 15| 1,758, 832 80
12| BEEHEASH EATh 13| 1,742,345 33
13| &4 B N 16| 1,395,997 113
=V EREREGRES SW=EH 7] 1,368,707 57
5| FHBEARERTERASH it 12| 1,232,326 70
16|54 LXEFRTERASH hnZath 12| 1,202, 662 64
17X TEHRASH b 3%+ 10| 1,080, 349 75
18| EFNTEHAESH EFHEH 10| 1,072, 707 79
V|eEEKASH EZHEH 4] 1,014, 457 22
20[C ChEEHEAH hnZEth 13 993, 494 63
21[/NREMBHE ST AEM 18] 985,493 7
2|sFR/\EESHA i MR 11 081, 727 92
B[ FRAEERASH B 8| 980, 449 80
(kX2 1S1 - ELFK =FmH 6] 934,999 37
25| kX1t hit#E Lt AR RET 14| 930,013 94
26| B TESRKASH AETH 14] 893,420 47
27Xt NEFICEE SWFEH 6] 892,586 56
28|BHEES KA SW=EH 10| 875, 696 70
V| XEEIHhASH SWFEH 6] 870,082 31
Xt 25 AEM 9] 857,407 58
MNMELIT ERASH BT 12| 809, 407 50
(LR m it AT 8| 801,219 81
B BB T E/RASHH E@ET 9] 795,339 48
MK et)FEETE PNt 9] 757, 461 44
Bkt EF T EFRT N 10| 743,247 75
B|NEEERTEMRASH AEM 12| 735,398 39
X EttiEEEEM SWFEH 71 722,742 59
Bt/ NEEH SW=EH 5| 705, 541 34
9 p R KA 4 AT 8| 700,047 40
VIHXEHBRES IS R’A™ 4] 681,875 41
AN|ARHEEH®EASH REAm 8] 656,332 41
%Xt FrHhH/ v AT 9] 636,693 51
BHREH/NIXTER SWFEH 3| 620,237 32
UK BHTY / Bm 10 612,277 80
45|kt KR Ml 71 608,574 70
46| (X £t hEAE Z B 6| 603,621 64
A7\ % XS KB TR SN 71 596, 949 34
BlEHLEFZ T EH_RARMT M=k 4] 587, 494 21
I be S il e i e gl SWFEH 3| 587,462 29
50—ty Ivo=—7Yvikkst REA™ 4] 543,701 34
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1 BNxE

- . § 24 | 2SI | AL
S B s | ok | eme | S
RS RRE 11 2.617.9% 1
QEBZA V75V AT LA SH wWmE)E 18| 1,752,611 20
R R 16 1, 364, 593 20
I kEmIHRASH R 11 830,000 1
5> 13— Ry FRRBRSH REE 2| 738524 7
SR A B A ET R 3| 601,139 4
7[5 Ra T HRS KRR 6 578,586 7
8|ttt a—FRL— 3> =2FE2 3 469, 422 4
BEREHR ST RE 2| 44, 947 5
X HRAES R 5[ 428029 7
M F— BRI ERAAH LEE 1410, 289 1
12| 5 EE S XA T L Xtk Sxt HERER 5 374, 880 6
BEXHEHE - H REE 1 337,260 1
AEBEERAAT R 5 323, 356 57
Bl T REE 2] 316,763 3
16| B BB AT R 2 313,500 >
I e REE 8 303 221 %5
BEE G e R 1299, 200 1
O BXanE— 75/ REE 5[ 275, 967 5
N EEETY—CABREH R 3| 265592 5
N e R 2| 252,230 7
EREERASI R 6| 221018 9
BABT Y/ AoV —EABRASH REE 5210, 507 5
e R 2] 193, 600 5
RS E BT KRR 1 188,100 >
260 A8 +—2—H—EXKRKEH RRAR 2 163, 075 3
I ERB TR SH AR T 159, 445 1
R EBEIHASR R 2] 155,980 >
[ A 5o+ —5 —HRAH REE 5151, 265 7
NFRESIERR2H HER 2 142430 70
SRR KT 5 R REE 1133, 650 3
R AREESHRASH R 1120, 151 1
33T IE AR 24T REE 2107, 200 7
UHREHI A EEE 1 100, 100 1
B E AR ) 397,570 3
36|V RAFE—EXHHKESHt RRAR 2 96, 393 3
SR A R = e PrEyTITEY 2| 93786 5
| KRR A R T 86,900 7
WREEILA—FBREH PrEyTITEY 2| 86,680 5
40(#r KX =4t3RF0 RRAR 4 85, 712 8
HELTEHE & CBREH PrEyTITEY 1T 85,140 7
DEXEHIR - 74 - o TER 380,850 3
e e AR T 73251 7
M| EREERIS ] 72,270 3
BERERER A AR 1T 69,467 1
IR A= T ] 2| 69,464 m
HBEUATLY ) a— 3o BREH =B 2l 67,280 3
48|+ FEEKRASLH FENN = 3 64, 501 13
NHXEE TV EJNIE) 11 60,610 1
NIXBURTLE#MKASH RRAR 1 60, 507 26
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2—(2) FARFERANEZHNRE—E(EX)

7 BREHE
2| me it |k | Seme | JAE
1| @ |(bksta—F 44— SLV-ETH 8| 2,530,490 25
2| @ [VWEEREHRASAH NS 1] 2,466, 214 31
3| @ [PRESZKASH nam 7[ 2,039, 153 21
M @ |FETY / AKX E ENIG 6| 2,014,937 39
5| @ [MXauerTE L2 2R 1| S BT 15[ 1,846, 670 58
6| @ [BEREZHkXSH AR 1] 1,570, 767 2
1 A | ESutmEid BRm 8| 1,530,976 69
8| @ [MXertEEmES T 10[ 1,422,769 25
9| @ |[BEBRIEKRASH nam 7| 1,334,267 40
10 A [#X£4tlO48 MR 17] 1,322,199 96
11| @ [&Exuktatt HHERH 4] 1,008, 622 9
12| @ [BRR:TEitet MR 7| 773,390 36
13| @ [rrLr¥EmTERta nZam 4] 762,189 19
14| @ [MXetthELR METE 8 712,128 42
15| @ [EEpERmtatt EAT 4] 680, 349 10
16| @ [LEEHRktett At 6| 668,848 43
17| @ [#X£#t1s1-ELFR =FH 3[ 628,590 18
18] @ [MXetmEFILEE SLV=ETH 3 592, 451 27
19| @ |BEEXZRH®KASH SWV=FEmH 5 591, 153 31
20| @ |[EAERTEHKRKSH B 4] 585, 662 30
21l @ [/hnTstett TE™ 3[ 568,350 13
22| A |NEBRRIERASH AET 7| 543,711 18
23] A |BRASHEKXRBFITHA R NI 5 516, 205 16
24 A |C ChEfstett mnZam 5[ 510, 325 26
25| @ |[ETEsEktsst AET 7| 505,914 25
26] A [thrhESB%AStt T 7| 503,922 13
21| @ |M%XErthFiE tefER S RHET 6 495, 504 37
28| @ |BBITEHkAS EETH 5 491,979 19
29| @ |=VikREeERxiZRES SWV=FEmH 3 471,736 22
30| A [RILT KLt JEETH 7| 438,268 20
3| A |[B(XSHBEFTERR METH 4 437,773 25
32| A |[ZEEZKXSH MR 8| 426,562 59
3| A (XS EHA AEH 5[ 417,787 31
34| @ |FmEHIHhAett SV=ETH 3[ 409,948 22
3B| @ |EMmAFEHIHASH AT 2[ 407,722 12
36| A [NREBRKEXSH AEM 7 383,198 33
37 A |(RXESHARELE KEMH 5 368, 883 16
38| A |&REZHKASH SLVET 3[ 359,109 15
39| A |kXsuAR JBETH 4] 355,970 14
40| @ [EmEmktet B 2| 346,910 16
41| @ |k ER SWV=FEmH 3 344, 321 22
42| A |BEEBZKXSH KB EHT 8] 338,438 25
3 @ |BEHEHZEHKASH AT 2[ 325,610 25
44 A |BXESHEDIHE TAEm 5 325,223 17
45| @ [MXEuhEHE HHERH 3[ 320,966 37
46| A |HzX4uBIOME AET 4 313,944 27
47 A |FEBRRIEKA=d RNEENEEHET 8 301,736 30
48] A [fFEITEIZ#HXS4 TEm 5[ 299,999 24
49| A [MXEHERERTE AL B 4 ER 42 F AT 6] 286,726 12
50 A |HXSEmEAE B A BB /MR B AT 4l 284,822 53
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1 BHNxE

&S| ws it |k | Seme | JAE
1 @ [BRatinm AR 1 2.617,9% 1
2l @ |F—E—BRITEHARH dbigE 1 410, 289 1
3| @ EEEEAEH R 2] 316,763 3
4 A HXEHPRI—KRL—a v EF8 1 111,100 1
5| @ [RREEARAL AR 169,467 1
6| @ [Bma> s ) — FTERRSH BEER 152,800 3
T @ |7 I 3 L ERRASHE RR 0 4,560 1
8| A [RREST—CABKSI AR 11,760 1
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2—@Q) FIHBFEREIZNRE—EEE)

7 BREHE
2| me it |k | Seme | JAE
1l @ 'MiTEHXs THEM 4] 2,087,286 10
[ @ |MXetEFTE Lt 2> 2R 1| BT 5[ 1,745, 381 24
3| @ |[HEREEMASAH EAT 4] 803,590 11
4 @ [BREMAI—TFT 15— SLV=ETH [ 771,155 21
5| @ |FRABEXEKAXESH tEW 5 675, 348 28
6| @ [ZVAKREEREBRES SLV=ETH 2 672,088 23
1l @ |%XEutmEid BRm 3 667, 211 18
8| @ |[EfnT a4t EHEH 7| 650, 502 31
9| @ [VEEEHRASH METH 4] 607,527 16
10| @ [sFBR/\BEHZhtstt MR 2| 576, 400 9
11 @ |PEEHHKASH R NI 3 481, 647 14
12| @ |[BXEHBTEIBE SV=ETH 1| 450, 450 2
13| @ |[PEEIKXSH SLN=FET 2[ 419,023 26
14 @ |NAREHZKAESH NI 2 416, 265 8
15 A |MXEHIA/ T% METH 4] 399,014 25
16| A [BEY ) ITA rixke4t SLVET 4] 378,855 20
17 @ [/NRIZHXSH THM 4] 370,472 41
18] @ |[HXEHBEEIBE gEnTh 1| 360, 800 14
19] A [XEdFLES KE R BT 5[ 322,265 44
200 A |B(XSHLBIHKE HAah 4] 316,957 14
21 A XSt hst4a L1 R RHET 4 287,989 25
22| @ |hHESRKA=H RIS E A E AT 2 282, 349 11
23 @ |Et+HEsEstsd BAgEm™ 2 276, 752 4
28] @ |/vA IR EH SLV=ETH 1| 270,116 6
25| A |HXSymEia AR 3[ 268, 459 10
26| @ |HXeur—>—I L BT 2 236,623 35
21l @ |NFTESEME SWV=FEmH 2 229, 240 12
28| @ |[EETEKASH SV=ETH 2 224 719 20
29] A [BRAXESUHKREIHE BREET 3 223, 361 5
0| @ |%XEEBRIHERE SLV=ETH 1| 209, 597 2
3N @ |[=vyoegisntaett FHET 1 205, 205 16
32| A |KFEFZTEH/ASAH EHBEH 2[ 178,869 7
3| @ |EmAEzHASH AT 3[ 164,852 9
M| @ |FEREZRHKAEH KEBRE EHT 1 164, 530 31
3B| A (XL EHIER EHET 4] 159,943 22
36| A XS EiER B 2[ 156, 561 4
3| @ |KREEHZHASH THET 2[ 154,299 17
38| B ([MAXESHREIKE LT 4] 149, 860 9
39| A |IBFHBZIE=HRASH wRE™ 1 148,143 15
40| A |[EFEZEHEAE JIET 1 145, 585 21
4 @ [NEEHktst SLN=ET 1 144, 540 7
| @ |[EBIxHstet EETH 2 143,770 12
43 @ |EEESEkAs S LCHEHH 1 141,576 1
44 A |[HXeu R EANT 1 137,027 8
45| B |wEEHEHtst SWV=FEmH 2 134,738 4
46| A [MXeuAiEE AR 2[ 132,495 15
47| @ |BEESRHKA=H SWV=FEmH 2 128, 884 16
48] A |mEmBEEH#EXSH SLVET 2[ 127,610 13
9 @ |[=reHktsit METH 1 125, 979 14
50 A |[ETEHZMXE4t AET 1 122,224 5
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1 BHNxE

- - - 2% | RWEE | ALE
B faft B FER | ww | T(FE) | SmE%
Te BRiaizE B REE T 337,260 1
2| @ KBS HERER 1 86, 900 1
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2—(4) FHRFEERFHRNEE—E(EX)
7 BREE
&S| ws it |k | Seme | JAE
1 A [BReimEEEL S0EER 722,78 59
2 A |2/ \NEXT SWV=Fh 5 705, 541 33
3| A | BREHBRBRIE EaTh 2681875 7
4 A **TAHZ/\ZRVEE.—L SWV=Fh 3 620, 237 32
Sof A IWERIFEHARH nam 4 587, 494 20
6] A %ﬁ BEKXEH LEH 1 396, 300 8
| A |HEEZHKAEH SWV=FEM 10 390, 852 51
8] A [#MXEHFTRT )l 4 339, 031 31
O| A |BR 5T N BRRRSL A& 7] 330,520 4
10 A [%RXEHAE SWV=Fh 3 325, 931 33
T A [RERERAEH SOEES 6| 300,695 65
12 A |MMXEHKRKEERESR )l 8 298, 597 73
13| A |BIEESZHARH SWV=FEM 5 288, 216 49
14 A |BKXEILREH SWV=Fh 5 274,140 51
15 A |[LAYIBERIEHRASH \ P Bt A T 8 255, 872 63
16| A |[KXEHHA—FSRANEE iTHT™ 6 230,976 68
17| A | IEARES nam 2 224, 384 39
18] A |BRXEERHAEH BEA™ 4 218, 260 35
19 A [HRAEHEEI X AT 4 212, 851 58
200 A |EFEXIEHKRAS4 SWV=Fh 2 212, 363 32
21 A |WEESRIEHRAS4 e 4B 20 = LU BT 5 183, 100 48
2] A BABRIERARE A& 5| 146,601 55
23] A [HREIEHKRAS4T AT 3 145, 266 6
24 A |HHXEHTa— RETH 3 139, 438 40
%] A |EAEHLERR PR REA 3
26] A [MXsutbETA )l 3 134, 164 17
21l A |RXEHTATVY REATh 3 130, 096 50
B A |=F 7 BT —CARREH i 2| 126,312 7
29 A |EXTERIEKRAS4 el Nt 2 125, 640 40
30| A [RAESHKAE4 AT 3 124, 341 70
31| A [BAREHZHEASH SWV=FEM 3 107, 155 58
32| A |voTyoREtt REA AR RARET 4 102,803 24
B A FEERIBRASE A& 2] 97,39 3
4| A |BAHEIFEH BEA™ 1 91,270 56
35| A |BRSHBEMESR TH™ 1 85,909 14
36| A |BXEHTa— A 3 80, 849 18
3| A [PHERIRRREE SOEER 172,060 %
38| A XS AKRERA =15k 2 7,712 29
39| A [HAEHHEMILYY g 2 69, 983 50
40 A [RILEZEHAEH nam 1 67,485 11
411 A [REFHAE# tEM 2 56, 826 22
42 A [BIIEHKXE B 1 47,928 12
B A | BARHRBABRIE SOEER 3| 46,698 19
4 A [HFXEHBRES RETH 1 44,330 2]
5| A [BREHA/ VEBE Ham 2| 43,705 2
46| A [XEHNBEEIER AET 1 42,448 21
47 A |BRASHEEES REATh 1 42,053 23
48] A [FEHEBEIHKAEH RS BR B BF ET 2 41,749 10
9 A [FXEHKEESR J\iF 2 41, 323 35
50| A [EBFERHMAE4 nam 2 40, 205 2
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1 BHNxE

&S| ws it |k | Seme | JAE
| A |EZA VISV RTLIKKEH FEE=INE= 18 1,752,611 20
2| A |EHent E et 7| 785, 842 8
3| A |BEREEMAEH BHRAR 5 323, 356 57
4 A [ZETHHEASH HRAR 8 303, 221 25
5| A |BEEFY—EXHKAESH BHRAR 3 265, 592 5
6] A [BFERKEXSH RERAT 4 252,230 4
TN A | AFo+—2—¥KAEH BHRAR 5 201, 425 5
8| A =B E Rt 2| 193,600 3
9] A B4 BHRAR 2 155, 980 2

10 A [FIRERITEHMAESH HER 4 142, 430 40
11 A [BXRESHAESH BHRAR 1 120, 151 1
12] A [BENEHAKE ST E Rt 2| 101, 200 2
13| A |[BRRXESHR==81ERT FEE=INE= 2 93, 786 62
14 A [ExHAE & Clest FEEIN! 1 85, 140 2
151 A [ERXEHIXR-7A - — FER 3 80, 850 3
16| A [BERX&Ht=T% HRAR 2 69, 464 42
17 A |BEZVATLYY) 21— 30 AkAKEtt RERRF 2 67, 280 3
18] A [ZBEIRTFLEEKXSH E et 1 60, 507 26
19 A [ZF+E FEEKKEH FEE=INE= 2 57, 263 12
201 A [EZTS o RFLEXSH FEEIN! 2 53, 240 3
201 A |Po 47T/ 80—#KA&Ht BHRAR 1 44, 000 1
22| A |[BHXE&HBAET =T ULY HRAR 3 35,376 3
2| A |IZEEEH ISV IO =T USRS BHRAR 2 29, 590 2
24] A [MXEutR)IEH ] 1 23, 650 i
25| A |ZXELKkKEH BHRAR 2 18, 942 2
26] A [ ERBHEER ] 1 18, 150 i
211 A |KXEHE—FT0/ BHRAR 1 13,177 1
28] A |[BRAESHEASE BRAR 1 6, 600 1
29] A |BXSHBEBI S =ZTFY VY KB AF 1 3,058 5
[ A INECTS vy r7+r—LAKRASH BRI AR 1 1,958 1
31| A |#%KX&#EmF0 BHRAR 1 1,562 1
32( - |[EX@EJ apankXett B AR 1 1,496 1

X ORMEHEICTT, MTEEN SRR SRNDBRELZET,
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2—(5) FIRFEXRANRNRE—E(E)

7 BERNES
2| me it |k | Seme | JAE
11 A [ KREEIkASH SW=FmH 6 870,082 31
2{ A |[BRXEHFH/ ¥ Ha™H 9 636,693 49
3 A [BXEMHrT/4 V< H SLV-FmH 3[ 587,462 29
4l A |lV—tvyIoo=7 ) ookt ett BEA™ 4] 543,701 34
5 A |[BRXEHAFTFY BEAT™ 3[ 486, 566 13
6 A | iBM%E Ha™H 2[ 480,073 34
| A |[BXEEBKT—FRY b BEAT™ 4] 468,053 26
8| A |EMMIEHKAXEt HZBEH 3[ 422,205 43
9 A |[BRXESHKBI XM SLV-FmH 3[ 373,787 19
10 A |LYTEEEEEKRSH BEA™ 4] 337,206 24
" A |EfFREIEHRASH SLV-FmH 2[ 336,723 46
12| A |BIIEHkASH M 5[ 316,685 32
13| A |BREREIEHRASH M 4] 313,229 15
14 A |[7HEEEMASH EE™ 4] 304, 357 29
15| A |[ExE&IHREH SLV-FmH 2[ 290, 233 32
16| A |FHKRY TITEMRSH SWV=FmH 9 266,000 39
17] A 4 Fa—Tkte# BE™ 3[ 263,558 26
18] A |FEIEMRSH AE™H 3[ 241,806 31
190 A |24 7 LHXSn EA™ 4] 235,929 30
20| A |[(XEsttEEXRE AEH 3[ 232,510 13
21l A [MRXSHREBEIRE SLV-FmH 2 227,869 21
22| A [MXESHRBIHKE SWV=FmH 2 218,534 38
2| A [HRRXEx7RvITIOC=ZFIULY SWFEH 1 179, 496 13
24| A [B%XeutHmREIE SWV=FmH 2[ 170,060 44
25| A [V RaHRE®RXEH T 2 150, 057 29
26| A (XAt ARZEBETE BEA™ 2 138,204 26
271 A [[BEFHEHEHEAEH KEMH 2 134, 280 18
28] A [BHXEHHKRITIE SWV=FmH 2[ 130, 288 33
29| A [BRXeHTRTYY SLV-FmH 1 122, 300 13
0| A MRS VE &R BEA™ 2 120, 220 12
31| A (K&t —74 SLV-FmH 2 117,131 26
32| A |MkXet@IRE Ha™H 2 115,673 8
3| A [M(AXeHEET SLV-FmH 2 104, 667 14
M| A |H(AXEsHHEBEET HEAT 1 92, 260 25
3B| A [ERABRIEKASH SLV-FmH 2 85, 286 28
36| A [EHERITEK/RKSH AE™H 1 74, 459 14
3 A |[MXesuEEYT L SLV-FmH 1 61,908 5
38| A |[HRAESHIEHRELE NI 2 60, 592 9
9| A [MXSHMBEREIE AEH 2 55, 382 24
0 A [FLetthRo5 Ha™H 1 54,985 10
41| B %S EHRTE EE® 3 45,219 25
2 A |¥X£t) 70 JBET 2 41,619 10
431 A BRI =7 Fmm 1 39, 402 12
Ml A (XL BREHRH B 1 38, 752 3
450 A [#HKX£ttSLIL AEM 1 32, 659 1
46| B [Xet7o TSy EXTR™ 2 32,123 13
47 A B IEOLRBEITER SW=FmH 1 31, 862 6
48[ A (BRSNS T R EA™ 1 30, 250 4
M9 A [HXeuemES SLV-FmH 1 30, 041 1
50| C [#Xsut—FTE FR R ER KRBT 5 28,934 10
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1 BHNxE

- - - Y | RS | AMLE

&S|l s FER | brw | (7)) | SmEM
11 A |Cavyraryro— LXK e BIRED 2 26, 400 2
2| B RLEERXSH R 1 5913 1
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2—(6) FHIFERANRIRE—E (G

7 BREE
£ |t e e ﬁg %@ﬁ? gﬁg%
11 A |t EBEMHE 1F:2%;7) 6 390, 199 48
2l A |1 LXEZRITEKRASH InZET 7 376, 762 36
3| A |MAXEHBFEEH Bt 6 317,502 15
4 A |FEAREZRIEMASH =W)1)55] 5 298, 184 22
5| A [NREBHXSAH REM 8 285,740 22
6] A |[ETESZHASH KET 6 265, 281 13
T A | chesmtat AT 6 256, 641 2
8| A |[AH¥Do— F#xX£tt HAa™ 5 253, 591 29
9] A (XS EFITER 1F:2%;7) 5 248, 241 30
0 A [BEEREXER =tET 5| 246, 859 13
T A [BReuBEHIBRE FAT 2213, 627 A
2] A [BXai=ETHR T 3 211,310 3
3 A [BReUNBEERTE e 5208, 750 17
141 A |SFR/\FESZ#HA = R 5 208, 488 13
151 A | KEEZBASH fTET 5 204, 214 18
16| A |MASHEFITE Ee =R E BT 4 199, 001 22
7] A [BEERIERASR CHET 5190, 808 78
18] A |{FETY/ AKkRAEtt 3 NITNG 4 189, 667 8
19 A |[BRESHXSH E05T 3 182,372 77
200 A |[BEXSHBEAEES NI 4 182, 168 43
21 A (AT EIEXRASH PIET 4 178, 008 17
22l A [BE=FLXHKA&Ht InZET 4 177, 489 7
23| A |[BEX&t/RLEE S LCHETH 3 172, 465 31
24 A [B%KX&+EAOMA KET 4 170, 080 15
25 A |MHEZEHASH fnZaE™ 4 166, 022 24
26| A [B%KX&stEBMA AR ER/NEEEFAT 3 165, 950 21
271 A |[BX&+tKEHE i 2 164, 934 47
28| A |WMiAREEKRASH FET 5 164, 630 40
29] A [#%=XetluOfE b 3% 1] 5 162, 184 26
30| A |[B(EX&TELES EFlGq) 2 158, 433 22
311 A [/MIITE#HAKE fTET 3 149, 448 30
32 A (XS EARIEE REATH 4 142, 466 21
33| A |FEESEHKASH FTiR™ 3 142,022 26
4| A |EHEBEEMKASH EAaTh 4 139, 365 10
% A |BRESHIST XE SR 3 138, 905 2
3% A [RAESTERRSH P 2| 134,232 10
37 A [BRERBAER =L 2 133975 2
38| A |NEBERZIEMASH KET 4 131, 980 15
9| A |ErEEMNKSH Hath 1 130, 071 33
401 A |RBELTEH(RASH JRETH 3 127,586 19
41 A RS RKREZE 1F:2%;7) 3 124, 161 46
0| A [BRX2HY<IFIBRE Fr 7 BB/ 11T 2 122, 851 10
13 A [HRSHAELE RET 2121, 682 15
4] A |BRXEHtHEIHEE =15k 2 118, 334 1
45 A |PIEEEKKSH 1F:2%;7) 3 116, 434 35
6| A [BEanINERTE LA 3 112,19 12
47 A |BXSHREZEE i 1 110, 197 32
18] B [HXSHFRF o O—F AR 3110, 134 20
49 A |MXSHBEREER b 3% 1] 3 105, 067 11
50 A |[B%EX&/IHRES AEW 2 104,118 16

X ORMEHEICTT, MTEEN SRR SRNDBRELZET,
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1 BHNxE

- - - Y | RS | AMLE
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